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Homework
Chapter 1: Integer
1A Whole number addition and subtraction, multiplication and division

1.

Expression Answer
(123 4+ 15) = 9 1242
(T8 +24) = 2 204
[24 + 36) = 15 900
(77 — 10) = 2 134
(48 — 18) = 19 270
(45 —25) = T 140

2. 42 and 43

3. 23,24,25

4. 49and 51

5. 23,25 and 27

6. 38and 39

7. 27,28 and 29

8. 45 and 47
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1B Number properties

1.
Pair of Numbers LCM
4 and & 12
7 and 21 21
S and 15 45
10and 25 50
12 and 18 36
16 and 24 43
20and 30 &0
14 and 35 70
6and 9 18
15 and 43 45
Jand7¥ 21
11 and 22 22
§and 20 40
Sand 12 36
15 and 24 120
7 and 10 T0

2.
Pair of Numbers HCF
12and 18 [
15 and 23 5
14 and 28 14
10and 20 10
§and 12 4
30and 453 15
16 and 40 8
27 and 36 9
ZZand 44 22
3Zand 45 16
30and 73 25
9and 27 9
21 and 33 7
14 and 21 7
24 and 36 12

35and 70 35
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Evaluate the following.

49

196

3600

14

21

9

900

—25

—900

27

81

900

4900

15

16

1225

—-169

—-1764

—12

—-10

120

625

10000

12

17

25

Evaluate the following. Be careful with the negative numbers

100

3025

—225

—2500

—15

Homework

10

169

1600

40000

19

144

3600

—441

—8100

—-14
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1C Divisibility and prime factorisation

1.

Use a factor tree to find the prime factor form of these numbers.

Mumber

1000

1400

2310

MNumber

225
275
320
432
367
£40
729
332
1000
810

950

Divisible
by 2
Yes
Mo
Mo
Yes
Yes
Mo
Yes
Mo
Yes
Yes
Yes

Yes

Prime Factorization
2w

# x5

a ¥ - .
w3 hx T

P xF x5
2 %3 x5
b o
A xT
92 . 53

Prime Factorization Different Primes

2w dxh 3i2,3,5
2x3xT 302,37
2% 3% x5 31(2,3,5
PP xh 3023, 5
2w 3 x5 32,3, %
2% 5 53 2(2,5)

2% w52 % T 32,57

2xd3xbxTx1l

Divisible Divisible
by 3 by 4
Yes Yes
Yes Mo
Me Mo
Mo Yes
A= Yes
Yes Mo
Mo Yes
Yes Mo
Yes Yes
Mo Yes
Yes Mo
Me Mo

Divisible
by 5

Mo
‘ez
Mo
Mo
fes
‘es

‘fes

502,357 11)

Divisible Divisible
by & by &
Yes Yes
Mo Mo
Mo Mo
Mo Yes
es Yes
Mo Mo
Mo Yes
Mo Mo
Yes Mo
Mo Yes
Yes Mo
Mo Mo

Homework

Divisible
by 9

Yes

Yes

No

Nao

Yes

Yes
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1D Negative integers

1.

Expression Answer
—2+5 3
-8R+ -5
—12+ 4 -3
07 -2
—-T7+9 2
—3 4+ 110 7
—15+12 -3
—6+ 8 2
—11+45 -
—13+11 -2
—4 + 13 ]
—14+2 -12
-1+ -4
—h—14 10
—16+13 -13
—20+19
—18+ 3 -10
—21 + 4 -7
—T7+14 7
-9 149 10
—17+ 2 -15
—22+ 11
—13+7 -
—12+ 10 -2
—23+5 -15
—15+ 16 1
—19+ 3 -16
—24 +6 -18
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Expression
5—9

12 — 15
15— 20
13 —17
16 — 21
—2-5
—4 — 11

Answer
-4
-3
-3
-4

-2

7

Expression
8—13

3 =10
6—38

10 — 16
20 —-125
3-8
—5—-11

Answer Expression
-5 2—6

-7 b—14

-2 4-7

-& 14-19
-5 22 — 26
-11 —6—14
-16 —H—-14

Homework

Answer

Expression
7T—11
11 —-18
1-5

18 — 22
24-29
—-7-=12
—-13-19

Answer

4

7

4

4
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1E Addition and subtraction of negative

1.
Expression
84+ (—3)
18 + (—9)
13+ (-5)

—4+(-3)

—6i—(—9)

(—18)

6+ (—2)
14 + (—9)
13 + (—5)

—0=(=T)

—2+(-3)

—20 +
(—14)
—30 +
(—23)

Answer

-1z

-32

34

-53

Expression Amswer Expression
10 = [—4) & 12+(-T)
5+ (—11) -6 J+[—8)
20 + (—15) 5 34+ (-9
-7+ (-8 -15 -1+
{—12)
—11+ -24 -2+ (-16)
(—13)
—19 + -39 —15+ (-4}
{—20)
B+ [—5) 3 12+ (=T
3+ [—8) -5 T+ [—3)
20+ (—15) 5 —3+(-2)
—h+(—4) -5 —8 + (—6)
—7+(-5) -12 —14+
(—12)
—22 + -38 —25+
(—16) (—149)
—33+ -53 —40 +
{—25) {—35)
Homework

1F Multiplication and division of integers

44

Expression
15 — (—6)
94+ (—10)
25+ (—14)
-5+ (—14}

—8+(-17)

—20+
(—30)

9+ (—4)
10 + (—6)
—6+(-1)
—11 4+
(—10)
(—13)
—d
(—21)
—44 +
(—49)

Answer

-50

-2%

49
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Expression
3w (—4)
—a4 = 10
9= (—13)
10 = (=2)
—8 = 18
30 s (=T
2w [—8)
—15 = 25
45 = [—1)
Bl = (—4)
—19 x 28
B0 = (—10)

85 x (—11)

Expression
=15+
—4il =5
B0+ (—16)
— il = 20

Expression

Answer

=12

-30

117

-375

45

-532

-800

-935

—6 % 3+ (—9) % (—2)

40 = (=5) % (—4) = (-2
50 < (—10) x (—3) = (=5)
B0 < (—12) x (—5) = (—10)

Expression
T [—8)
—4 =7
—h o« 14
12 = [—3)

=10 = 19
—11x21
4 = (-9}
—18 = 26
-2 x5

55 % (—5)
—21 % 29
—29 5 30
90 x (—12)

Expression
—24+8
3l = (—10)
a0 + (—18)
—75+ 25

Answer

-56

-28

-604

-660

-10&0

Answer

-3

Expression
5 x (—6)

G [(—11)
—6 = 15

15 = [—4)
20 = (—5)
—13 x 22
G (=10
35 = (—3)
—25

G0 = [—6)
70 = [—8)
—24 x 31

13 % (=7)

Expression
—18+6
60 = (—12)
=30 =6
=80+ 30

-103

-150

-3e0

-360

44

Answer

-3

Expression
—-2=x9

B x (—12)
—7 = 16
—& = 17
25 x [—6)
—14 = 23
—12 = 24
4l = (—2)
=40 =T
=17 = 27
7w (—9)
—26 = 42

—-18 =9

Expression
—at =4
T2+ (=9)
—45 + 15
10y + (—25)

Answer

-18

-96

-112

-138

-150

-5

-675

-832

-lg2

Answer

-4

-8

-4
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Expression Answer
5o (4—6) =2 -5
6+ (—2+3) x (—4) —24
(—7T+5) =« 3=(-2) 3
20+ (10 —5) x 4 16
(3= (=2))+(5+(-1)) -11
(=D +4) = (2-3) b
Tx(6+3)+(—8x2) A7
8+ (—4)+(2—6) —6
5x(3—T)+(—4) 5

4 (3—(=2))+(-5) 15
(=T+4) = (6+(—3)) -2 —11

10+ (5—(—3))+2 3.25



